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SHITETATAE(R)
E 4z K £ 7ok 1 > —#%JL | HDCP ESVI RAVb
B B JNE &% 42 40 82 18.0 64.0 500
BB Fit B 48 40 88 23.0 65.0 400
3L EIER 39 43 82 17.0 65.0 300
vEiva EBA Rt 45 43 88 22.0 66.0 100
54z FEE e 45 44 89 23.0 66.0 80
6L HLE B 40 43 83 16.0 67.0
741 gk HEA 41 38 79 11.0 68.0 70
841 MR EHB 42 43 85 17.0 68.0
9fz fBR BH 43 44 87 19.0 68.0
104% B R 37 40 77 8.0 69.0 50
114 ws ER 37 40 77 8.0 69.0
1241 x5 #HE 47 42 89 20.0 69.0
131 =B B 48 47 95 26.0 69.0
1441 =Y 45 38 83 13.0 70.0
1541 & FB 37 38 75 5.0 70.0
164 Fall 28| 45 38 83 13.0 70.0
174 BKR F 41 40 81 11.0 70.0
1841 X% =M 43 40 83 13.0 70.0
194 BIR  BE& 44 42 86 16.0 70.0
201z BA B 40 37 77 6.0 71.0 50
2141 tE B 40 39 79 8.0 71.0
2241 I Jesh 37 41 78 7.0 71.0
23{i1 AXH #B=® 39 42 81 10.0 71.0
24431 TR FH 40 42 82 11.0 71.0
2541 TH #%E 37 36 73 1.0 72.0
2613 IR 2BA 36 38 74 2.0 72.0
2741 RIR  #RE] 43 40 83 11.0 72.0
281{iz AKX FH 40 42 82 10.0 72.0
29{iz Al BEF 39 42 81 9.0 72.0
3011 A M- 43 44 87 15.0 72.0 50
3141 NTTI 3 44 a4 88 16.0 72.0
32fi ME B 49 47 96 24.0 72.0
33 F OrEX 42 39 81 8.0 73.0
3443 K OE 35 40 75 2.0 73.0
351 XE 1= 41 42 83 10.0 73.0
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361 maar B 40 43 83 10.0 73.0
371 WE 1EA 45 43 88 15.0 73.0
38{i A KX 44 45 89 16.0 73.0
391 mEA ER 49 45 94 21.0 73.0
40131 A0 1Ex 47 45 92 19.0 73.0 50
41431 T EF 40 39 79 5.0 74.0
42431 FH FX 43 41 84 10.0 74.0
43431 B R=E 44 42 86 12.0 74.0
4441 Il EA 42 43 85 11.0 74.0
45fi1 FAE AT 40 44 84 10.0 74.0
4641 A BAF 41 46 87 13.0 74.0
ATHL i 49 51 100 26.0 74.0
4811 BA XX 45 40 85 10.0 75.0
4913 WE % 42 43 85 10.0 75.0
501 HHE At 48 44 92 17.0 75.0 50
511 =H FH4 39 46 85 10.0 75.0
52{i1 =K E 47 46 93 18.0 75.0
53{iz BH E# 44 46 90 15.0 75.0
B443L W & 48 50 98 23.0 75.0
5541 AN X& 44 41 85 9.0 76.0
561 1HE {5EA 48 41 89 13.0 76.0
571 B FiE 45 42 87 11.0 76.0
581{iz K¥ BE 41 43 84 8.0 76.0
59{iz Z& RE 45 45 90 14.0 76.0
601iz FNl IEE 46 46 92 16.0 76.0 50
611 EAX G 57 51 108 32.0 76.0
62131 B REA 47 40 87 10.0 77.0
6313z A thia 43 43 86 9.0 77.0
64431 EE  BAI 42 45 87 10.0 77.0
6513 =l % 45 46 91 14.0 77.0
661 Ak &RRE 45 55 100 23.0 77.0
671 A EBXER 46 39 85 7.0 78.0
681iL pN v N 49 41 90 12.0 78.0
691 25 E 45 43 88 10.0 78.0
70fL FH #Ht 52 43 95 17.0 78.0 50
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7141 k¥ HR 41 46 87 9.0 78.0
7241 BEX XH 46 47 93 15.0 78.0
731 oA BT 52 49 101 23.0 78.0
7441 Ak = 40 49 89 11.0 78.0
7541 INIT BRF] 46 38 84 5.0 79.0
764 BE E— 44 43 87 8.0 79.0
774 Bk Z 48 44 92 13.0 79.0
78141 B - 43 48 91 11.0 80.0
791 ERK & 45 50 95 15.0 80.0
801iz HiE &E 45 46 91 10.0 81.0 50
811 FE it 53 54 107 26.0 81.0
821i XH B3% 48 47 95 13.0 82.0
8313 (U N 53 51 104 22.0 82.0
84431 EfE f#7 46 48 94 11.0 83.0
851 [LH 1EBR 49 52 101 18.0 83.0
8611 F#LE Z=PMHER 49 54 103 19.0 84.0
BBE =ZE LA 53 52 105 17.0 88.0 80
88{iz wWHe RBE 48 54 102 13.0 89.0
N R BAX Fa
N R BA B—
N R RO 18X
N R HE Rif
N R Z52 &
N R FH £H=
N R 1TSS
X 1% R H—HB
X 1% INER IERR
X 1% X+ BEE




